Conversion of Capacity J

A. Choose the correct answer:

1. How many millilitres are there in 2 litres
a. 1000 ml b. 1500 ml
c. 2000 ml d. 2500 ml
2. What is 1500 ml in litres and millilitres
a. 11500 ml b.2 1500 ml
c. 111500 ml d. 11200 ml

3. Which of the following is equal to 1 |

a. 500 ml b. 1000 ml

c. 750 ml d. 2000 ml
4.31200 ml =

a. 3200 ml b. 3002 ml

c. 3020 ml d. 320 ml

5. 2500 ml is equal to
a.2150ml b.21250 ml
c. 21500 ml d. 31250 ml

B. Write the Missing Terms to Complete the Sentences:

1.11= ml
2.21300ml=__ ml
3.1750 ml = I ml
4.31=_  ml

5.1200 ml = I ml

C. Mark each sentence with a True (&) or False (X):
1.11=1000 ml
2.31300 ml=3300 ml
3.1500 ml=11400 ml




4.21100 ml=2100 ml

5. 750 ml = 3/4 of a litre

D. Figure out the answers to these questions:

1. Convert 4 1 650 ml into millilitres
2. Change 2850 ml into litres and millilitres
3. A bottle contains 3 | 500 ml of water. How many millilitres is that
4. Convert the following into litres
1000 ml -
2000 ml -
1500 ml -

5. A jug holds 2 |1 250 ml. Write its equivalent in ml and subtract 500 ml from it

E. Challenge yourself with these questions:
1. Convert 51350 ml into millilitres.
2. How many litres and millilitres is 4250 ml?
3. A can contains 1 | 750 ml of juice. Express it in millilitres.
4. Change 5000 ml into litres and millilitres.

5. A milkman delivers 2 | 500 ml of milk in the morning and 11750 ml in the
evening. How much does he deliver in total?




